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CHEMISTRY SSC-li
SECTION — A (Marks 12)

Time allowed: 20 Minutes N

NOTE: Section—A is compulsory. All parts of this section are to be answered on the question paper itself.
it shouid be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting Is not ailowed. Do not use lead pencil.

Q.1 Circle the correctoption i.e. A/ B/ C/D. Each part carrles one mark.
() Sulpher Trioxide is prepared according to the following reaction:

280,,, + Oy,y = 250, The condition of this reaction is:

A. V, O, /450°C,200atm B. Fe/400°C,200atm
C. Electric ! Spark D. Ni/ 450 °C,200atm
2
() For a reversible reaction, K, = ICI . Which substance is product of the reaction?

. |48
A A B. BothAand B C. B D. C
(iii) Consider the following reaction H,0+ HCl = H,"O + cl , which species is an electron pair acceptor

in this reaction?

A HCl B. H,0 c. H'O D. - Cl

(iv) When ’H ¥ } <1x 10_7 M , then solution will be:

A Acidic B. Basic C. Neutral D. Amphoteric
(v) The general formula of alkynes is: | ’

A CoH ypia B. C.H,, C. CHy, s D. Coll 3y
(vi)  Which of the following is an Ether?

‘A, CH,-CH,-0-CH,-CH, B. CH,-CH,-COOH

c. CH,-OH D. CH,-CH,-OH
(vii) Which is used for dehydro-halogenation?

A Alcoholic KOH B. ALO, C. Conc.H,50, D. Bromine water
(vii)  Glucose is:

A Tetrose B. - Disaccharides C. Pentose D. Hexose
(ix) Which is reddish brown gas? . ‘ ,

A NO B. SO, C. 0, D. NO,
() Which of the following Salts causes temporary hardness in water?

A. Magnesium Hydrogen carbonate ‘

B. - Both calcium sulphate and magnesium sdlphate

C. Calcium suiphate '

D. Magnesium sulphate
()  Whatis the chemical formula of slaked lime? ‘

A CaCl, B. CaO C. CaCo, D. Ca(OH),
(xii)  The disease caused due to the deficiency of Vitamin D is:

A Rickets - B. Hemolysis of Red blood celis

C. Scurvy ‘ D. Night blindness '

For Examiner's use only:
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CHEMISTRY SSC-I

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Sectlon ‘B' and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
heatly and legibly.

SECTION - B (Marks 33)

Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=233)
(i) a. - State Le-Chatellier's Principle.
o kil
b. What is the unit of X_in the following chemical equilibrium K, = |H ' !I |
2 2
(i} Write three Macroscopic characteristics of forward and reverse reactions.

(i) Show that H,0 is Bronsted Base, while HCI is Bronsted Acid. Write Chemical Equation.

(iv) a. Define Neutralization Reaction. Give an example.

b. Write names of any two Acidic Salts.
(v) What is Isomerism? Draw the structure of Isomers of Butane.
(vi) Define Heterocyclic Compounds. Draw the structure of Pyridine and Thiophene.
(vii) How are Alkenes prepared from the following:

a Alcohol b. Alkyl halides
(vii)  Write three uses of proteins.
(ix) What are the two functional groups found in Amino acids? Draw peptide I_inkage.
(x) Define Pollutant. Give some effects of sulphur dioxide on human beings.
(xi) There is scientific evidence that CFCs contribute to the depletion of ozone. Explain why.
(xil}  What are the causes of Hardness of water? Also write their chemicai equations.

(xiii)  Write chemical equation for the following:

a. Reaction of slaked lime with Alum.
b. Carbonated Rain water with lime stone.
b. Reaction that occurs when temporary hard water is boiled.

(xiv)  What is crude oil? How is crude oil formed?

(xv) Define Earbohydrates. How do plants prepare carbohydrates?

SECTION ~ C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2 x 10 = 20)
Q3 a Define salt. Explain different methods used for preparation of sait. (06)
b. Classify the following compounds as an ether or a pheno: (02)
)  CH,-CH,-0-CH,-CH, @  CH,OH
c. Write Equilibrium constant expression for the following reaction. COCLy,y = COy +Clyy  (02)
Q4 a What is Ozone? How is it formed? (03)
b. Write Balance chemical equations of calcium carbonate with: (02)
] Suiphuric Acid (ii) Nitric Acid
c. Wiite important functions of Fats and Oils in living organisms. (05)
Q.5 a Write chemical name of Soda Ash. Explain manufacturing of Soda Ash by Solvay Process. (07)

b. In what ways do the industrial wastes pollute water? (03)
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CHEMISTRY SSC-li
SECTION - A (Marks 12)

Time allowed: 20 Minutes

NOTE: Sectlon—-A is compulsory. All par(s of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not ailowed. Do not use lead pencit.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

0

(i)

(iii)

(iv)

V)

(vi)

(vii)

(viii)

()

(x)

()

(xii)

For Examiner’s use only:

Nitrogen dioxide is synthesized according to the given equilibrium. 2NQ,; + Oy, = 2NOy,,

The unit of «_for this reaction is:

A. mol.dm™ B. mol*dm™® C. mol’ .dm™ D. No Unit

A drain cleaner solution contains1.0x10° M , OH~ concentration. This solution is:

A. Neutral B. Basic C. Acidic D. Can not be predicted
Which of the following is the genera! formula of Ether?
o o

i I
A R-O-R B. R-C-R C. R-OH D. R-C-OR'
Which of the following is the functional group of amine?
A ~-COOH B. —-CHO C. -OH D. -NH,

_Hydrogen is added to propene according to the following equation:

CH,-CH =CH,+ H,————CH,—CH, —CH,
200-300 “C

Which of the following catalysts is used for this reaction?

A Zn/HCl,, B. Ni C. Pt D. Zn

Raffinose C,,H1;,0,, isa/an:

A Polysaccharide B. Disaccharide

C. Monosaccharide D. Oligosaccharide

Which of the following diseases is caused due to the deficiency of vitamin-A?

A Night blindness B. Anaemia C. Scurvy D. Rickets
Lowest temperature in stratosphere is:

A =55 °C B. -5°C C. 5°C D. 55 °C

Which of the following is the chemical formula of Gypsum?

A Mg S0,.H,0 B. CaSO,.2H,0 C. CaSO, D. CaCo,

Which of the following is NOT a water-born disease?

A Anaemia B. Dysentery C. “Typhoid D. Hepatitis

The separation of mineral from gangue is called concentration. Which of the following methods is
used for concentration?

A. Roasting B. Smelting C. Flotation D. Refining
Which of the following is the chemical formula of Haematite?
A Fe,0, B. FeO C. Fe,O, D. FeO.Cr,0,

Total Marks: 12

" Marks Obtained:
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Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B' and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B If required. Write your answers

CHEMISTRY SSC-li

neatiy and legibly.
SECTION - B (Marks 33)
Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11x3=33)
0) Define the following:  a. Chemical equilibrium  b. Equilibrium constant

(i) a. What is pH? Write its Mathematical form.

b. What is the pH of pure water at25 °C ?
{iii) Differentiate between Normal and Acidic Salts. Give an example of each.
(iv) Classify the following as an aidehyde, a ketone or a carboxylic acid:

a. CH, -CO-CH, -CH,

(0]
b. CH, -CH, —CHZ-—ICI'—H
o

C. CH,-CH, - é"— OH

{v) Write the Condensed formulae of the following:

a Butane b. Pentane c. Octane
(vi) Compiete the following reactions:

a. CH,-CH,-CH, - Br+ KOH Alcohal

b. CH,-CH,-CH,-OH Cone.H2504

170 °C
c. CH,-CH =CH, + KMnO, + H,O0—>
(vii)  Write three uses of carbohydrates.

{viii)  What is Peptide Bond? Expiain with an example.
(ix) Define Acid Rain. Write names of gases that cause an acid rain.

(x) Define Global warming. Mention some effects of global warming.
(xi) What is coagulation? Write its chemical equation.
(i) a. Write Raw materials used for the manufacturing of Urea.
b. What is the product obtained when Ammonia reacts with Carbon dioxide?

(xii)  Water is considered as the ‘Best Soivent'. Why?
(xiv)  Define Law of Mass Action. What do you mean by the term ‘Active Mass'?
{xv)  Define Fat. Write uses of Lipids.

SECTION - C (Marks 20

Note: Attempt any TWO questions. All questions carry equal marks. (2x 10 = 20)
Q.3 a Define Lewis concept of acids and bases. Explain each with the help of an example.

Name the bond formed in Lewis acid-base reaction. (05)

b. Explain self-ionization of water with the help of chemical equation. (03)

c. Write names of any two acid-base indicators. , (02)

Q4 a What are Vitamins? Describe the different types of vitamins. (05)

b. How are Alkynes prepared.from: )] Vicinal dihalides (i) Tetra halides  (04)

c. Write the chemical formula of Ethyl amine. (01)

Q5 a What is ozone layer? How does ozone layer depletion occur? (06)

b. Draw flow sheet diagram for manufacturing of Urea. (04)

— 2SA 1508 (ON)} —
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